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1. a) Who cursed Sakuntala ? Why ? What was the curse ? What is the significance of the curse-episode in the
development of the drama Abhijianasakuntalam ? 1+1+2+6 =10
or,

b) Who was Sanumati ? In which act does she appear on the stage ? How does make herself invisible ?
Discuss the importance of this character in the development of the drama Abhijiianasakuntalam .

1+1+1+7 =10

2. Translate into Bengali or English any one of the following verse : 5

a) caHAGA YERR: TS o

epectell HfcTAd o afchar |
JATHAIETIIUT A
) 9 N

R a=g F 71a; gt |

b) C

9 9

Heedd fhaa A gfdeeacy: |

e NETITHAT] FTHITSITAH,
3AEfaSt: TReYAT: Wof WS ||
3. Explain in simple Sanskrit with reference to the context any one of the following :

a) 37Yf i§ Fear WFT Ta 6
dTHe FEIsT GO |
ST JAE f3ere: g
TN SaTeaRIcHT ||

b) AT e FERTRT AW Asele]
gl #rafd I R Sie: |
e TR fefAareyd



AT Seelleaiaigeia |
c) T o AR o AfdsAT 7
fFersC & dIad Beldd quIH |
R dedaRy
HARAT ATH deqdrdr: ||
4. Render into Sanskrit in Devanagari Script only (any two): 4
a) Site ol 3ifeHer g
b) ST &al 3ToUTddr
c) or fagARer @
d) HfeT3iaAgaiter3n
Unit-1I
(Marks : 25)

5. Describe in your own words the speech of Draupadi as you find in the Kiratarjuniyam , canto I. What

idea do you get of her cherecter from her speech ? 6+4 =10

or, Write a note on the style of Bharavi with special reference to the remark — “sTReel-tel TFAT

gdr HRG:” 10
6. Translate into English or Bengali any one on the following verses . 5
a) PATOTHET el HersTst
fSrar guete fAagRsaa: |

T focgd aog 7ar 7 & B

JaeFAaS e 7 fFafSor: |

b) ReTT AT 7 gAafod
o e fatgesy dfcrand |
Yadd a&g favenfeer

ORI o= & afchar 1|



7. Explain in Sanskrit any one of the following verses :
a) FRaTg ] TRTET
o G UL gl At |
NG efeAary ATeY T
e #AGIX = goley ae: ||
b) & foerar |y & enfed Asfa
fRaes @ & Ao & T |
Heghey & Fad Ud JIsaardy o gaae:

8. (a) Name and expound the Samasa either in  IFUITHET in 6 (a) or g in 7 (b).
(b) Account for the case — ending either in J[UTERIET in 6 (b) or 3eToNTAfE: 7 (a).

(C) Derive either gy ine. (a) or, gafraﬂ{ in7 (b).



